BM3 Bl mEAGHIEA R EDIA - ZRENIBHR

TILORMS

BM3iZRSH

- e | SAERE Mpa SAME N.m i’ég:*g@ %g::% ff@%
£s : (EH | £ | hEE®

i i 5 ejmin | Umin | |9 [ B | L] Lw |
BM3-80

BM335-80 805 175 20 225 194 218 271 10-180 65 14 9.8 11 167 129
BM3W-80

BM3-100
BM3S-100 1005 17.5 20 225 242 283 318 10-750 75 16 10.0 145 170 132
BM3W-100
BM3-125
BM3S-1256 1263 175 20 225 303 345 373 9-600 75 16 103 19 175 137
BM3W-125
BM3-160
BM3S-160  160.8 16 20 225 358 429 459 7-470 75 14 10.7 25 181 143
BM3W-160
BM3-200
BM3S-200 2009 16 20 225 438 540 576 6-375 7 14 1.1 32 188 150
BM3W-200
BM3-250

BM3S-250 2526 125 16 20 440 580 700 6-300 75 11 11.6 41 197 159
BM3W-250

BM3-315

BM3S-315 3215 125 16 20 551 625 831 5-240 75 10 12.3 53 208 169
BM3W-315

BM3-400

BM3S-400 4019 10 14 175 560 687 865 5-180 75 8 131 67 222 183
BM3W-400

i AT {ERAIE SETEET e | g TR IS 5T EET0.680,

BM3SMEREE
BM3-80-400P*A*Y
BM3-80-400H*A*Y

8 67 SOG4 * 2-M10  HEHEO2-G1/2 ©
[E12 &2 [&®is
|

=Fm| —1 |

M8x20 s ’L
! 3 P

@
2

¢
{

#C1
$C2
|
|
I
I
1
|
|
s )
|
-
|
72
102

/
s 94

|
I
)
i

64 TIREHBENREEDERAT)



BM3 B IR R EDIA gy e

BM3-80-400P*A*Il'Y
BM3-80-400H*A*I]Y

2-¢ 13557,

‘E. G7 EOG1/4 * 2-M10 #HiEO2-61/2
- [Fiz B (&8
=28 I ’I /ﬁn
MEx20 Tk ‘ A ‘ T
F ~ . A\ J ) 2
e 2=
2 IR 11+ ———1 1 — =3+
. ' Gt
‘ 1 1 B E v
=a/ A
-
L B 5, | 22
L1 18 27
L2 Lo L
BM3-80-400P*A*Y
BM3-80-400H*A*Y
8 57 BEMOGT/4 “ 2-M10  HHIBO2-G1/2 ° g¢ 30, 22° 30 ——
[Z_ EE [®i2 &S @fﬂnxﬁ&ﬁ@
=2E | | /
A
M8x20 F&# 3
1 T
-‘ s (I
SRR e s Yole
/ Il 4\_-/n I} =
wa/ A
: — [[H
P — kB, =
L2 1018 7
L

BM3-80-400P*A*IIlY
BM3-80-400H*AITY

] 57 /\
MEHEOGT/4 * 2-M10  BHH@O2-G1/2 *
— [E12 [Fiz [&®is

{
i

: " ;i
M8x20  FsR ’L :

T Oy
1 étj olq
0|38 | 1{ 4P I Ty v
0| 0 o
= < ; | — -
> 1 4@ ‘_1rNr
s/ AN
’ i
L L1 ]
“—q“ B g B 4- 13 5%,
L L2 104 18 - .
-+ L -

TR BETREENBIR AT 65



BM3 B EAL R4 R E DA By 285

BM3W-*ZAY
= EE
1x45°
JRHOG 1/4 HEHIBO2-G1/2
P = =
T4 BEx6x20 RE_ |iR12 | ®15
L
\ / H
13 _‘4 ‘.s ﬁL\:}_
e Fan W an Y
£ r DA %
S| |= = - ; =
ol 4| —Fa = = N <1 =
22 *fii B e [ e ol e 1
Sl ale
e = <11 :10 P f‘ NE
1 v
' U B
AR _2-M10
T H &
TR SRR . 139x139
58 o8 N el
110-1 -

Bl SR EA
BM3-[1[1C]1C]
12 3 4 5 6

1. BEREDERE 2. NERAKE 3. 2RS4 BHEAE 5 ZELEORT 6 BARKE

T P1 35

$32h7 10%8x 45 - 56.5
g P3 $25.4h7 28.2 6.35X6.35%32 s 405
T P5 $31.75h7 35 7.96X7.96x32 - 495
BFEIEE H1 ®30h7 - 6-30 X 25b12%6d10 32 455
ERIEE H2 $25h7 . 6-25X21b12X5d10 32 455
Ly H3 $34.85h7 5 6-34.85x28.9% 8.64 5 -
A 4- $ 13.5/3i5=, 182.5h8 Y G1/2 G1/2
A1 4- $ 13.5/37%=, ¢ B0hB Y1 M18x1.5 M14x1.5
ATl 2- 4 13.5% /A=, 82.5h8 Y2 M22x1.5 M14x1.5
AT 2- ¢ 13 55TE=, ¢ 80h8 Y5 L-14UNF 1=-20UNF
A2111 2-$13.545E=, ¢ 100h8 Y8 NPT1/2 G1/4
AV 4- 913 5ETGE, $82.5
it R

ARENEEAT ATERIETIES: | BESIHLBAT RIB R ETTER ( WHIIRE )

66 TIREHBENREEDERAT)



